Unit 5 Practice Assessment Algobre

Comparing Functions Name:
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3. Which of the following functions model the data glven in the table below?
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a, Linean y=2x-—5
Linear; y= —2x—1
& Quadratic: y = (x —2)2 -5
,d./ExponentiaI: y = 2(5)*

4. Which of the following functions model the data given in the table below?
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a. Linear; y=2x—1

b. Linear: y = 2x—2

¢. Quadratic: y = (x ~2)? + 4
Exponential: y = {2)*

5. Which of the following functions madel the data glven in the table below?
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* Linear: y = x+ 6
} Quadratic: ¥y = (x—1)2 4+ 6
¢. Quadratic: y = (x —2)2+ 7
}t‘ Exponential: y = (6)*
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6. The chahge in the height of a ball from one bounce to the next if the ball is dropped from a height of
12 feet is 75% of Its previous helght. Which of the following is true?

g, _ This Is an example of exponential growth with the growth factor being 1.75.
: JThis is an example of exponential decay with the decay factor being .75.
This is an example of linear growth with the rate of change being .75.
}?’This Is an example of linear decay with the rate of change being -.75.

7. Ataxi company charges a flat rate of $3.50 plus .20 for each additional mile. Which of the following
Is true? -— A e G

A This s an example of exponential growth with the madel being y = 3,5(1.20)*,
A" This is an example of exponentiai decay with the model being v = 3.5(.20)%.
@Thls Is 2n example of linear growth with the model being y = 20x + 3,50.
d.. This is an example of linear decay with the model being y = —.20x + 3.50.
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8, Which of the fdl[owing functions has a greater rate of change?

@ f{x} because its rate of change is 4 while the rate of change for g{x) is 2
b. glx) because its rate of change is 4 while the rate of change for f{x) is 2
c. g{¥) because its grapﬁ appears steeper than that of f{x)

d. Neither, both graphs appear to rise at the same rate

9. Which of the following functions have a greater rate of change over the interval [1, 31?7
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a. rix) because its rate of change is 4 while the rate of change for s(x) is 2 over the interval [1,3]

@r(x) because its rate of change is 3 while the rate of change for s(x} Is 2 over the interval [1,3]
2™5(x) because its graph appears steeper than that of r(x) over the interval [, 3]
d. Neither, both graphs appear to rise at the same rate
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10. What type of model fits the data collection below? M- (_, ¢ §
oLt o M J VoakLe

-

(23, 2 (0,241,210, 55 T2
- f ]
»& Linear, f;em%se th\e';e,}?a ?:on;t;za'te of change

,YExponentiaI, because there is a common ratio
c. Quadratic, because there is a constant rate of change
c 4. :“,O,uadratic, because the second difference is coristant

11, Which of the following is the correct mathematical model for the data coflection below?
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) ‘ Which of the foltowing statements is true sbout the Ranctions fix) and g7 -
,ﬂhe cat of change of the Nirction A4 s sways greater than the rate of change of the : j .
fimetion o). 4. The p-iewereept of the funetion {x} is less than the p-intercept of the Rinctian i},

b, Jrhe eare of change of the Rirsction o(x) will evenstiafly be prester that the rate of thange of . @]’hej--lnmreept of the functivn {2} Is greater then the pintercept of the fuietion i),
the fancsion fz),

. e, ‘The pintercept uf the feetion A1) is vqual to the pintercept of the functing gf.
 Fhe rate ol change of the fanetion Ji) Is never geeater thar the rate ol changa of the ' d. The yintercepts earnns be determine
Bmetion i . , i,

14. Which of the following is the explicit equation for the graph to the right?
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15 Antwaan feaves a cup of hot chacolate on the 16. t(x)” iy
counter i his kitchen, Which graph is the best
representation of the change in 1empe1 e of his
hot chocolate over time?
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